EE 475 Fall 2011 HW #9
Due: 11/16/2011
1. B-8-1

2. B-8-2

3. B-8-9

4. Do B-8-10 and show that C1, C2 and C3 allow you to separately control the TF’s from R to E, from D to E, and from N to E. (E=R-Y by definition.)
5. B-8-11/12, Ignore what the problem statements are telling you how you should design. Design a “simple” controller (using your judgment) using whatever method you prefer to achieve Mp between 5 to 10%, Ts <= 2s, ess to step =0.

6. B-8-13

7. B-8-14
8. Redo A-8-12, using loop shaping by pole zero cancellation, to achieve the same specifications (Mp 2 to 10 % and ts <= 3sec). (You can make CG to be a prototy 2nd order system. Very simple design. What type of controller do are you using?)
